Ratio 0(0 x) (um) for PV

a(dy) (um) for PV

a(d z) (um) for PV

Ratio

=
o
w

0(8 x) (um)

=
o
W

10°E

o(d x) for merged vertices (um)

=
o
w

102

10 15 20
Vertex z (cm)

| %%%éé

LLL]
e

P P PO T P PO R A P T P A A T P T
: B S 4 : i : : : i : o 4 : : : : b
: i : § Eoc L : § I i : H- :
S ETHE vaf--- s L RREES o T LA
: d : ; o : : : E L :’LI-lJﬁI ur|
TR - Pk gl LB G AR - :”T] Tt
(TR B 2 pr R I |11 il
-10 5 10 15 20 -20 -15 -10 -5 O 5 10 15 20 0—‘20 -15 -10 -5 0 5
Vertex z (cm) Vertex z (cm)
V VCLLUI 1OGGCVt

10?

10E

5 . Y :
rl kb i
T l ny f
-4 4 +|- .
o} 5

"

5 10 15 20
Vertex z (cm)

Py L'l#

=T

5 10 15 20
Vertex z (cm)

o(0y) (um)

Ratio

(0 2) (Um)

=
o
)

[P PO A R T DU PR DU T A T
200 1 £
I
-20 -15 -10

50 5 10 15 20
Vertex z (cm)

=
o
W

10%F::

;'h‘lii Rl

4+

p=rs
£
=
-
=
s s

10 15 20
Vertex z (cm)

o(d'y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

10 15 20
Vertex z (cm)

5 0 5

10°

10?

lh tl*l.u 1L1+

AL = Al

15

10 15 20
Vertex z (cm)

—10—5 0 5



	Contents
	Page 1


